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01 At 22l 16,500 16,500 0
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OMYAMSHAXS DHMES 10,000
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OMELATAMILANMIARARS =S 4,500
02 2324l 48,000 0 48,000
O3323YAHA 32,000
OMEII=REIINMNEZ 20,000
OAMEI =X LHEESEMNEZS 12,000
OAEEHI KXY 16,000
OMEII=RANESH X2 10,000
OMEII=RZHEA 6,000
03 &Ar2 I 5,000 35,000 230,000
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-Jls72(3088) 3,057,900 »1H x12& 36,695
-Jls82 (175 8) 2,314,000& *3H x12& 83,304
Oad= 76,433
(GRS =, 917,190,000 x1/12 76,433
O=% 212,124
OANZAZ22H 110,345
-yHME 9,383& x28H x10A| 2t *x12& 31,527
- X2 9,383 x28H *25A] 2Fx12& 78,818
OIESY 37,800
- BH S Xt 40,0003 x30H x12& 14,400
- JIEHDHE 20,000 x30H +»3H x12& 21,600
- X2 30,0003 x5 x12& 1,800
OXNESHHIE X4 10,414
- ) ESHM 433,880% x6H x43] 10,414
OdZF=YItat= 26,880
- 25E 0] & 130,000 x6H » 12& 9,360
- 204 0| &H~254 0] 2t 110,000& x4~ 12& 5,280
- 154 0] A~20E 0] 2t 80,000& x5H x12& 4,800
- 108 0| A ~15 0] BF 60,0003 x2H x12& 1,440
- 548 0] A~104 0] 2F 50,000& x10H x12& 6,000
ORYUsRIA+H 50,000& x3H 12 1,800
OlRsRIY 9,765
= 3,201, 100& x4 . 1%*x3H x12& 4,725
-62UR 2,523,000 x4 . 1%*1H x12& 1,242
-Jls62USR 2,937,700 %4 1%x1H «12& 1,446
-JIs738US 2,390,000 x4, 1%+2H x12& 2,352
OSxgRY 15,120
-JlsdEsrY 11,280
BeT=1 50,000& x1H x12& 600
- 6,72 30,000& *x10¥ x12& 3,600
- 820l ot 20,0003 x6H «12& 1,440
JEAFZ2 (D1 AF) 30,000& *x11H +12& 3,960
DbAFZ2 (A DAL 20,0003 x6H x12& 1,440
IS (2F S - AEE0|6H)
20,0003 x1H x12& 240
- R 80,000& x4H x12& 3,840
O HZAH| 130,000& 28 x12& 43,680
OYEE SOt 917,190,000 «1/12%60%*23] 91,719
A2 A Y|
917,190,000 x1/ 128 86%*1/30% 19! 41,631
02 JIEt& E 126,689 111,941 14,748
O8E& 126,689
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o9 = 102,302
= 38,964,000& *1H 38,964
== 31,668,960 »2H 63,338
OAZIAZ RS 11,823
-yHME 9,383& *3H x10A| 2t* 128 3,378
-XZ =2 9,383& *3H *25A| 2tx 12 8,445
Ons< 3,240
- BH S Xt 40,0003 3G x12& 1,440
- JIEHDHE 20,0003 »3H x12& 720
- X2 30,0003 *x3E x12& 1,080
OFHZAH| 130,000 x3H ~12& 4,680
OI=BIERNY
102,302,000 *1/12%86%*1/30% 19! 4,644
03 RINHA22XNHE %= 224,372 191,496 32,876
OmMzdaed 19,000
(OPIR==] 40,8303 x1H #2552 10,290
Oan= 10,290, 000& *1/12%x400% 3,430
OiIE=Y 960
- B X+ 40,000 x12& 480
- JIEHHS 20,000& x2H x12& 480
OxFs=2¢ 40,830 12 x52 2,124
OH ==& 40,8303 x1H »20 817
OAZI =&
40,830 1Y *1.5/8%15A 2t = 12& 1,379
OAM&E22e& 18,760
(OPIE=3=| 40,8303 x1H #2522 10,290
oan=2 10,290, 000& *1/12%400% 3,430
ONns< 720
- B < Xt 40,0003 x1H ~ 128 480
- JIEHDHS 20,000 1 x 128 240
OFs2¢Y 40,8303 1% 52 2,124
Od x4 40,8302 x12 »20 817
OAlZt =
40,830 x 12 «1.5/8%15A] 2t+12& 1,379
OEgg2ed 20,099
[OPIR==] 43,3203 x1H %252 10,917
o&an=2 10,917,000& *1/12%400% 3,639
OIESY 960
- BH 2 Xt 40,0003 *1H +x12& 480
- JIEHDHS 20,0003 x2H x12& 480
(OES=E=, 43,3203 x 1«52 2,253
OH X =E 43,3203 x1H %20 867
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OAl =
43,3202 «1H «1.5/8%15A] 2t+12& 1,463
OAURMAasZHEA 39,236
(OPIR==] 43,3203 x2H %252 21,834
[Or S = 21,834,000 *1/12x400% 7,278
OJIEx=Y 960
- B X+ 40,000 x1H x 128 480
- JIEHDHS 20,000& x2H x 128 480
OxFs=x¢ 43,320 23 x52 4,506
Odxx=¢ 43,3203 x2H 20 1,733
OAZI =&
43,320 *2Y *1.5/8%15A 2t = 12& 2,925
OANEHAREXR 37,517
oJN=3 40,8303 »2H #2522 20,579
oan=2 20,579,000 %1/ 12%400% 6,860
Oons< 1,440
- B < Xt 40,0003 x1H ~12& 480
- JIEHIHSE 20,000 x4H 128 960
OFs2¢Y 40,8303 x2H 52 4,247
Od x4 40,830 x23 »20 1,634
OAlZt =
40,830 x2H «1.5/8%15A 2t+12& 2,757
Ons &=yl 60,0003 x7Hx12& 5,040
OYEE Z Ot 600,000& *7H x23] 8,400
O HZAH| 130,000 *7H x12& 10,920
O =& 0l 40,0003 7H *15L x12& 50,400
COO5thAtE 28 15,000
204 &R = A | 60,780 55,920 4,860
02 A3 &8 x| 60,780 55,920 4,860
4= 400,000 x1H x12& 4,800
O3, a2 250,000 x4 x12€ 12,000
6=, d A 155,000& x11H x12& 20,460
O7201s73) 140,000& x 118 x12& 18,480
1892 (J1=8~932) 105,000 x4 ~12& 5,040
303 A2 11,520 25,200 A 13,680
01 ZA 2 11,520 25,200 A 13,680
OJggotEssd 120,000& x8H » 12& 11,520
PladA2dH|(EX) 167,010 149,829 17,181
= 83,505
== 83,505
101 2124 4| 167,010 149,829 17,181
83,505
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03 RIAHAZ2 B+ 167,010 149,829 17,181
OMEENSHEIANERA 167,010
OJles 48,6003 «5H x250 60,750
2 30,375
< 30,375
Od0i= 60,750,000% *1/12x400% 20,250
= 10,125
< 10,125
ONE=g 4,800
- i< Xt 40,0002 *5H 122 2,400
= 1,200
= 1,200
- JIEHOH S 20,0003 «2H «5H «12& 2,400
= 1,200
< 1,200
Og X< 48,6003 «5H x18< 4,374
= 2,187
< 2,187
OFs=+% 48,6003 «5H x52 12,636
= 6,318
< 6,318
O5MAtE 2 & 10,800
= 5,400
< 5,400
OFE FItHI 600, 0003 x5 *23] 6,000
= 3,000
= 3,000
OusE x| 60,000 «5H 122 3,600
= 1,800
< 1,800
O&FHZ Al 130,000 x5 «12& 7,800
= 3,900
< 3,900
OUWEZ=AMXEZHYI 36,000
= 18,000
< 18,000
=3t 435,280 379,500 55,780
JlE2&l 435,280 379,500 55,780
201 L4l 362,480 305,900 56,580
01 At 22l 148,780 92,200 56,580
EETES= ] 83,180
OHAFAESEG LM SHE 50,000
OZHMFTRRY LA 960
OMzLENREZ 3,600
OSAEXNLELALBERY 10,000
Os2cI2ALINESME 10,000
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